CKOpOCTb ABUXEHUA




PaccTtoaHue — S
(KM, M, IM, CM)

Bpema - t
(CYT., 4, MUH, C)

CkopocTb — V
(KM/4, KM/MWH, M/C)




PaccTosiHne = CKopocTb - Bpems

S=v-t

CkopocTb = PaccTosiHue : Bpems

v=3S:t

Bpems = PaccrosiHne : CKopoCTb

t=S:v




1. 3anuwuTe ¢ 4eM NO3HAKOMUIIUCb Ha
ypoke?



2. Kakoe cnoBo nponyLeHo?

YT06bI HANTN CKOPOCTb, HAOO PacCTOAHUE. ..
Ha BpeMs

A) pasgennTb
B) YMHOXUTL
B) yBennuunTo



3 Kakue BeniM4mHbl He UCNOSNb3YTCS
B 3agadvax Ha ABUXeHue?
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4.Pewu 3apgauy

NMewexoa 3a 4 yaca npowen 16 kM. C kakoun
CKOpPOCTbLIO ABUrarcs newexon?

A) 4 kv
b) 4 km/u
B) 12 kv



5.CocTtaBb camocTosATeNIbHO 3aAayy Ha
ABWMXeHUe ucnonb3ys AaHHbIe.

( MakcumanbHas CKOpPOCTb
apTomoowuns Jlaga-KannHa 200km/uy)



